34 188.141 Snow wing edge (standard)

33 188.144 Snow wing edge (for front blades with serial numbers 1081512041-1081512080)

32 349.500 Rubber edge set. 1 SPECIAL ORDER!

31 | 188.006 Cutting edge (short) 2 [PARIOX | SPECIAL ORDER!

30 84.313 Cutting edge 3 - SPECIAL ORDER!

29 | A414748 Support 2 SPEACIAL ORDER!

28 188.160 Snow wing 1 -

27 188.140 Snow wing 1 -

26 - Clasp 3 DIN 8210

25 - Washer 3 SF-DF-3628-Lesjofors

24 | 207A0102 Grease nipple R1/8" 2 - R1/8"sirge 0.01

23 | 202A0502 Pin 1 - DIN1481 D8x50

22 | 203A0216 Washer 1 - DIN 125 - M42 - ZIn 0.02

21 188.600 Pendulum 1 -

20 | 213A0105 Bronze bushing 2 TFF-4026 Frimet

19 | 203A0205 Washer 1 - DIN 125-M8 - In 0.00

18 | 201A22024 Hexagon head bolt 1 8.8 DIN933-M8x 16 -1In 0.01

17 | A42805A Pin 1 -

16 188.003 Pin 1 $355 D30h?9

15 188.900 Set of hydraulic hoses 1 -

14 188.700B Hydraulic cylinder 1 -

13 | 204A1608 Nut 9 8 DIN785 (Nylock] MTé - 0.04

12 - Mushroom head bolt 9 8.8 DIN603 M16x40

11| 02314 Cutting edge 3 | Hardox #10

10 - Lynch pin 2 - D4,5 mm DIN 11023 20.117

9 188.002 Pin 2 $355 D22

8 | 204A1605 Nut 2 8 DIN 985 (Nylock) M8 - Zn 0.01

7 | 201A22102 Hexagon head bolt 2 8.8 DIN 933 - M20x 60 - Zn 0.22

6 188.005 Ring 2 $355 D30

5 349.400 Blade 1 - 149.32

4 | 202A0501 Pin 3 - DIN1481 D8x40

3 188.3000 Pin 1 -

2 349.300 Frame 1 - 25.74

1 349.200 Frame 1 - 81.06
Pos. | Joonise rr. ITEM NO Arv | Materjal Toorik Toorky | Puhas

nr.

mass

mass

SIM

- Esisahk 3000HD SMS - R
Front Blade 3000HD SMS - R

349.000



mari
Typewriter
Snow wing

mari
Typewriter
33        188.144          Snow wing edge (for front blades with serial numbers 1081512041-1081512080)

mari
Typewriter

mari
Typewriter

mari
Typewriter

mari
Typewriter

mari
Typewriter

mari
Typewriter

mari
Typewriter

mari
Typewriter
34        188.141          Snow wing edge (standard)

mari
Typewriter

mari
Typewriter


22 | 23

20 | 21

27

oo o0'e

e

SIM

{

349.000

Front Blade 3000HD SMS - R

Esisahk 3000HD SMS - R


mari
Typewriter
33

mari
Oval

mari
Oval

mari
Typewriter
34

mari
Arrow

mari
Arrow


	Varuosad_list_ENG
	Drawing View17

	Pilt 1(2)
	Drawing View19
	Drawing View20




